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A g H &
_ 7 2021 2021 2021 (B-A)
2 7 gt = of At 2 gt = ol &t =0 At
| | (A) (A (®) %
A 3 99,176 202,707 | 108,581
29 M| 87,065 91,082 4,017
o= 6,911 7,000 89
=S Al 1,000 .|fo.0|o -
o= 2,400 m,éo| =
~2)| 2| 1,000 819 181
ozt 800 400 400
M= - |A 473 1,473
»ﬂ_mgi - mO.mw@ _ 70,579
SNSRI = mﬂwmm 27,955
A 3 24,045 15,540 8.505
ARBlI 2RI ALY 2,700 500 2,200
=7 ALY 200 100 100
AMS ALY 1,500 1,200 |- 300
H_%n_mm_h_em 9,800 2000 |- 5.800
XA 1,360 360 1,000
NEImEE T 600 500 100
A ABE 500 300 200
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(2) 20219 Seta MeUsE A
(&2 - &)
2021 =2(B-A)
uL = 202100EE | = oy gy o0 o & & B Y N (29 8)
(A) ON A
1,162,378 1,356,152 198,774 1,356,150,608
4,920 77,044 72,124 77,043,112
/AN EEFRY 400,000
SIRHNES - 1,473 1,473
lAHlE SAAMEERL 1,072,500
I AH|IZ

lAH 2B 2 - 70,579 70,579 AAHI EMAH BHEZ 70,578,612
UAHIEL 4,920 4,992 72 |E2CIREZ 416,000&*12 &= 4,992,000
HXI2A0! A AH 1,121,318 1,213,368 92,050 1,213,367,850

B W 1,U0L,080,Z0UT —
ANZREXZ S 29| 24| 5,126,000&*11J8= 1,124,064,250

— £ 40N nnnel.4 2

MAH| 80,415,6008 =
24 A H| SHEZ 2 50,000*25H+2 &= 83,915,600

2 S[H2HH| 40,000 *25% =

ZHIIH|58,000& 262 =

H A 2| O —
1,121,318 1,212,568 91,250 |MHIAXI&H o o"nM_ Mw wwmo._ummuf 3,198,000

AL Z & H| 30,000&*262=

RS KAIA oy
e woo.oooﬁ;iw_ﬂ 300,000
LR B2 AY SEE S AN 800,000 800,000
SIEEIAIY SEEIIAIY 1,090,000 1,090,000

AlE|EX| 8ol & 28 S
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(3) 20219 SIAHSEE HNEUHYA
(&2 &8)
2 | st = mou_ﬁ_vmu wmumm“z 26N A EE N (B )
2 _ &l = ol =404t Al = chel s &
_ (B) (A) ik
g A 1,162,378 1,356,151 193,773 1,356,1560,608
AL H| QI H] 2 978,765 | 1,062,548 83,783 1,062,548,250
608,005 625,487 17,482/0122 2 & 4,963,000%12H &= 59,556,000
MNR=ZF @Wo.ooom*quMM @.omNonI
AR=E m.Almm.ooom*muIMn 30,861 ,ooo ..
A3 TH & m«mmn_ooo.oﬁ._*muIMM G.At:owo .
ALSI A& m‘mmw_ooo.om*mu__Mn S;mm.omo |
2tSAF 3,582,000&*30 &= 10,746,000
2tSAF 3,631,000 +90) &= 32,679,000
ARE .myﬂooom*mu:m" 8,721,000
AR R2 m.m|o#ooom*mu=m" 16,806,000
N ANFR2 2,853,000 +3J &= 8,559,000
| MEME1 2,493,000 +30 &= 7,479,000
| METHE1 2,558,000 +904&= 23,022,000
METH &2 Mﬂhmm.ooom*ﬁ:m" 17,451,000
MEWE2 2,558,000 +50 &= 12,790,000
METHE3 2,853,000 +90 &= 25,677,000 |
METHESI 2,907,000 *3 &= 8,721,000
METME4 3,048,000 «40 &= 12,192,000

N ELEREEIIERNS

Ol




2021 2021 Z2+B-A)
ey & = Ol &F F=Z 0 O & & = & M (&2 &)
(B) (A) o
METHE4 3,092,000 +6IH &= 18,552,000
METHES 2,109,000 *5 &= 10,545,000
| METHES  2,175,0002+70 &= 15,225,000
_ ST 26 m;om_ooomimuImW. . 25,308,000 |
METE7 3,298,0008+10J1 &= 32,980,000
a METHET7 3,324,000 +20 &= 6,648,000
METHE8 2,558,000&+90 &= mw.omm.omo
METHES m.mMA,ooom*muI.m" 7,872,000
METHE9 1,987,000 +7ME= 13,909,000
METHE9 m.oﬁ.ooom*muxl.mn 10,235,000
MBS0 2,801,0008+5J1 8= 14,005,000
MEIHE10 2,853,000 +7H &= 19,971,000
METE11 2,955,000 «601 8= 17,657,190
METHE w.oomooom»mu__MH 18,018,000
| ZelAH m.mmm,ooomﬁuzl_mu_.n 10.104,000
| ZelAH 2,578,000 80l &= 20,624,000
. ZEIA2 |m;wm.ooom*:u=m" 23,892,000
| ZElA2 2,213,000 «104&= 2,213,000
=& m.mmm.ooom*dIMM 17,913.000
Mg 217,886 | 217,886 |- 0 |g2&sY | ®E 4,963,000+120%= 5,955,600

N L EI L



2021 2021 =2HB-A)
= & = Oll &+ =0l &t O & &8 & & A (&= &)
(B) (A) o &
T _

MEIE 3,350,000 %60%= 2,010,000

AR=E 3,429,0008+60%= 2,057,400

ALZITHE  2,574,000&+60%= 1,544,400

- A2 THE 2,693,000 *60%= 1,615,800

2SS A wﬂmlmm.ooom*mo&n 2,149,200

2AS A w.amﬂooom*moﬁu m;wm.mom

ASE mboﬂooo.oﬁtmo”xvnl 1,744,200

APR &2 2,801,000&+60%= 1,680,600

METHET  2,493,0009%60%= 1,495,800

METHE1  2,558,000&+60%= 1,534,800

METHE2 2,493,000&*60%= 1,495,800

METHE2 2,558,000 %60%= 1,634,800

METHE3  2,853,000&%120%= 3,428,600

METHE4 3,048,000 *60%= 1,828,800

eI &4 m“omm_ooom*moﬁn 1,855,200

METHESE5 2,109,000 +60%= _.mmmh00|

METHES 2,175,000 %60%= 1,305,000

METHEE 0

2,530,800

2,109,000 %120%=

Ate| =AY




40,0002 =120 & u_

2021 2021
o & = ola | =0 O & & B Z M (B9 R)
(B) (A)
METHET7 3,298,000 *120%= 3,957,600
METHHS  2,558,0008%120%= 3,069,600
METHES 1,987,000 %60%= 1,157,400
METHEO  2,047,0008*60%= 1,228,200
METHEI0  2,801,0008x60%= 1,680,600
METHEI0  2,853,0008*60%= 1,711,800
 METEI 2,955,0008+60% 773,000
METHE1T  3,008,0008+60%= 1,801,800
ZE|AH m_mmm.ooowﬁ_*monxvu 1,515,600
ZoIA 2.578,0008x60%= 1,546,800
X2l 2.172.0008x120% 2,606,400
2E Aoo“ooo.m*AMuI.liu 1,200,000
NSRE 220,008+ 1248 - 2,640,000
A TH & ®o|.ooo.@1mu=m = wmo.ooo|
GSA 12000041248 =| 1,440,000
C NRE 100.0008x30E 300,000
MEE2  120,0002499H = 1,080,000
METET 60000812008 = 720,000
= | —
METHE2 | 480,000

AR S XY

nhu__ pAS = SER




b=
oo
Jio

2021
Oil &F
(8)

2021
=204

T—o

(A)

of & & & & Al (&9 : &)

METHES 120,0008+12)HE = 1,440,000
B . METHES5  40,0002%12008 = 480,000
METHET7  20,0008*1200E = 240,000
Z2lAH 40,000 *12)4E8 = 480,000
ZElAF2 120,000+ 12H& = 1,440,000
2 4,630,000/209%1.5+20 A 2tx 1204 &= 7,975,080
>Tn_|m_,Mw 3,350,000/209%1.5«20 Al 2t+3IH & = 1,442,580
AL =3 mbmm.ooo\moﬂm*mozu_lrn@uﬂMn. 4,429,800
ASIAHE  2,574,000/209%1.5+20A1 2t+6 I &= | 2,216,820
ALZ|THE  2,693,000/209+%1.5+20 A1 2H6IH &= m.wa.mom _.
uLM|Z |Iw<mmm.ooo\moml B5#*20A12H30H &= 1,542,480
urTlmil @l.mmA.ooo\momi.m*mo\f_urrmu_._MM 4,690,710
AR mwow.ooo\mooi B5*20A12++3 &= 1,251,810
APRE2  2,801,000/209%1.5+20A| 2Hx6IH &= 834,540
AFRR2  2,853,000/209%1.5+«20AI 2H+30 &= B |d ,228,560
M THEH m“@w.ooo\momi.mﬁo\/_urfmuIMH m;hlw”hmvl
M EIHEH Nmmm‘ooo\mmwi.m,&o\/_u_lI@uIMM m.moo.wmm
MEBTHE2  2,493,000/209+1 .mMoZ 27 8= 5,000,830
MEBTHE2  2,558,000/209%1.5%40A] u.lImuIIMn 3,671,750

Atz S XY

r




2021 2021
= g = Off &F = 0lat of & & = & AN (&2 : &)
(B) (A)
MBTHE3  2,853,000/209%1.5«40AI 29N & = 7,371,360
METHE3  2,907,000/209%1.5x40A1 2H+30 &= 2,457,120
METHES  3,048,000/209%1.5+40A1 2401 B = 3,500,080
METHE4 w.oom.ooo\momi.mﬁmoiu.l?mu:Mn. 7,101,200
METHES  2,109,000/209%1.5%40A| 2H+501 &= 3,027,250
MEWES 2,1 wm_ooo\mmmi Br40AI 27 &= 4,370,800
i METHEG m;oo.ooo\moml.m*mlmzur*imuI.M_u 7,265,400
METE7 w%mwm_ooo\moml 5*40A 2H=100H 8= 9,467,900
AETHET7  3,324,000/209%1 .5%40A1 2H+201 &= 1,908,500
METHES 2,558,000/209%1.5%40 Al 2H+QI & =| 6,609,150
METHES  2,624,000/209*1.5%40A) uL*wu_._MH. 2,259,900
| METHEG  1,987,000/209%1.5«40A| 2H+7 1 &= 3,993,010
\%Wﬂzwﬂﬂ 2,047,000/209%1.5%40A| 2H+5J1 &= m.wwm“mmol,
HETHE10  2,801,000/209+1.5%40A| 2H+5I &= 4,020,550
METHE10 m.mmw.ooo\momi S*40AI 27 IHE = 5,733,280
METHE11  2,955,000/209%1.5+40A| 2H+60 E = m.ommbmm
METHE1T  3,003,000/209%1.5%40 A1 2H+6 I = 5,172,600
ZCIAH m.mmol.ooo\mooi 5*40A| urr&b_._Mu_ 2,900,640
ZC2IAMT 2,578,000/209+1.5+40A] urImuIML 5,020,720

Atz S Xl 5 e 55t




2021 2021 Z=2HB-A)
2 =l = Ol & =AN A [— Of & & = o Al (2] : 2)
(B) (A) ol
FEIAF2  2,172,000/209%1.5%40A] 2bx11 1 B = 6,858,940
FEIAR2  2,213,000/209%1 5+40A| 2H1JH E= 635,310
SNS = 68,824 | 68,824 o [HRS X =
it _ . cxme o 189 68,824,250
WL 84,050 ABEE AYLHE 18 ST 01+3.385%= 27,543,470
- HUBE 2+10.25%= 2,823,210
84.050 |- 0 | RUASLHE 182 ST0:4.5%- 37,165,100
DREHES 188 E30+1.05%= 8,671,860
ATHEE S 182 £ 04+0.95%= 7,845,970
METUEDAISE 20{1,890,0002«4% «5)H 2= 37,800,000
IIELG 120,000 +4Y*5I = 2,400,000
H S| 1,134,000%4%= 4,536,000
S52A12tE o1 || - 66,301 66.301 | 52A|Zt=E & Q12|
A2HQI2S 252 40AI2t 542,580 x4 «5I) E= 10,851,600
METHE DA 252 S X FE2207,720+4H+50 = 5,154,400
METIS DA 252 AISIEE 223,140+4H 5042 5,559,000
SI=E+3] A 707 700 |- 7 700,000
@y 507 200 307 N_*WMMW%_HLM_ b 200.000
o - “ TE— S = = — f
=05 Ll\_ ,\:\_._D. =
_ - s R 3|9 Al CHIHHIS
SRl 200 500 300 |S0ll 2Q5= MY
t_o__ AQ%= 50,0005+ 100 5 = 500,000
29 A A 49,718 | 58,504 8,786 58,504,291
BENE - "
ol Y| _ioE 1,000 - |zzo 100,0002 %107 &= 1,000,000

AR SRl s 5Et



2021 2021 Z=2HB-A)
B & e | ==oe — O & & B Y N (B9 E)
® | w | s
12,306 | 18048 | 5742 |moImIOIRE) 1,090,000 +13|= 1,090,000
CMS 22 20,00021%127 8= 240,000
EE— - 99,0008 51274 8- 1,188,000
YRR 6,930 %1274 2= 83,160
=ADIAEE 200,008 *12 2= 2,400,000
FPCT— 82,5001 274 B= 990,000
w_mMMMW_ ol 46,6008 12048=| 1,747,200
HADBEIHI(AS) 100,0008! 13| 100,000
mmww.mwﬁ_mﬁmﬁ_ 100,000 43| = 400,000
AEEERYL) 150,00081 1242 = 1,800,000
o5 208 590,000 %1078 < 5,900,000
ey | 100,000
ARD LMY 350,0008%33] = 1,050,000
zz92 20,107 onga 10,0008+4748 | 40,000
=012 1,100,000+12)H 2= 13,200,000
cumaz 05,300%1+1 2748~ 303,600
S UeE 84,12021+1274 8= 1,009,440
& 3 22,0001 %12 B= 264,000
. 700,00081%129H% = 8,400,000

AtelExHel &g

S =25
(=l




2021
2 5 = o &t o4 A E YN (298
(B)
2241t 200000812748 = 2,400,000
—— B
2 8,209 i (BZAIAFEI = XIE 2/ 3l) 300,000 %1 = 300,000
(ZS=FONQIAI LB 25]) 150,0008 42| = 600,000
(SRR ONQIAILE 2 5]) 100,0008+129HE = 1,200,000
22 8 2=2,200,000=
NREEDEE 60,0008+33=
UAEBEE NBAMMNEE220,0008+138= 3,007,200
S2INHABE 32,20081+1 5=
AEEE 370,0008*13|=
TS ZHA 59,0502 «2CH+1 3= 118,100
TN 25,0008 +2CH= 50,000
SEPON ] 1,000,00081%1 5= 1,000,000
LRU2HIE 165,000 *12J &= 1,980,000
4,920 e 120,008 +2CH+1 0 S = 2,400,000
AtgFateldl 22| & &bl 667,591 13| =667,591& 667,591
3,176 - EPS, Y 56,000%/+16% = 896,000
OFFE AR 2 100,0008 +4%8= 400,000
o1z 3|9 70,0003 22 x43|= 560,000

Atel=X1E

r




2021 2021 | =2t(8-A)
2 3t = A EETT O & & B Y N (B9 )
(B) (A) M
Ol A EE2 70,000%i%63!= 420,000
Wmm_mmmm 30,00021+2 % +43]= 240,000
NEL Al A 2 0043 | 14708 | 4855 14,798,490
Al 2,743 408 |- 2245 [Nz 498,490
XHAHE S| |fooo 2800 | 1,800 |xarESY| MM%%MM&MOW%MMM 2,800,000
zwxu_w%_ 6.200 | 11500 | 5300 |amormmey e 100,000 %1274 8= 1,200,000
ANE ST 22 10,300,0008 10,300,000
sy A 99,176 | 102,701 | 3,525 102,700,890
Ao 87,065 | 91,082 | 4017 |2amzy 7,381,840 %120 2= 88,582,080
SRR RS2 50,0002 +25 «2H B = 2,500,000
I = 6.911 | 7,000 89 |m=t| - I o 7,000,000
sE3a| 1,000 | 1,000 - |=waan S ENY 1,000,000
o 2| oa00 | 2400| - _Mtgm_wz_ (92)200,00080+1 224 = 2.400,000 |
£20| 2| 1,000 sio |- 181 zazmae 818,810
Come 800 400 |- 400 |22yl - 400,000
VT A 24,045 | 15540 |- 8,505 15,540,000
IREECINE 2,700 500 |- 2.200 [Hesauia 50,0008 +1074 = 500,000
Asl =Rl o2 =




2021 2021 | m2t(8-p)

2 8 = e | =zoe o O & A E M (B )

® | w [ a4+

T 200 100 |- 100 Mmﬂﬁmmmm 100,0008 13/ = 100,000
He DEAY 1500 | 1200 |- 300 |2mns 1500008221~ 300,000
A : 300,0008!+13]= -
Nelwzass | 50,0001 +18% = 900,000 |
| I 5000,0008+18|= 500,000
| He | 5000,0001+121= 500,000
Y= 1000002 *43]= 400,000

tslazimese]  9.800 | 4000 |- 580 b— —
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